EARAROBEEIERT — 2 N— IBISH —F

20195108268 (+) 9m=HI3H

m C3—18 C3 #¥5%—# B R
[A&4] 1 % :300,000 @ ~ 237 :105,000 A 37 :60,000 M  43%:45,000™” . 5 3&:30,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
C = FREER :29. -1-1- . - HF (FHH)
(gl ExAs oL 3 g 1(2_9)9 1-1-1-1 | 39.1 1 as) ZEEE%z
R:GFLTURR BibhyTT—F2 =latie
5 2g EIYE 1. 55~ il = EEFE (SH)
5 o | XL vamTEYY 4 3 = 1(3;)0 5-5-5-2 | 39.1 2 ;1_7; i
Ri*xfavR—5— B:XA42ayN1/XR i vae )
: = it 3 | MRS 1:32.2 2-2-2-3 | 41.0| — 3 42 | BEXRE (BEH)
317110 1191 —T4 54.0 ®6) © 7%‘;1‘/7“ ()
L:BALINT Ry IR BEvIYHIS HENLKR=—95T
.k # 5 | EREHR 1:32.3 3-3-3-4 | 40.7| — 4 433 | BIFES] (B
] 41V F—70X 54.0 J (1/2) (-8) BEHEH
RN—=YI54 B:514Y>5v02 J—HTTr—L
s= s, s i 3 | ANERE 1:32.8 7-6-6-5 | 40.7 | — 7 441 | REX (BH)
5/5/6|FvET—Ya> ¥¢53.0 2 1/2) -5) BRI
A= RILERIIL BV v K- T4 X H"HET77—L
5 . 71| 53A ] -0-9- - AREE (EH)
6 3| ¥v—mOy U i) B0 1.(353).8 10-9-9-7 | 41.1 11 (Yf) g*%ﬂé
LTHIHXL TR BT N=FLFK i/ cie )
o 3 ¢ 4 3 | HENRE 1:34.1 9-10-10-9 | 40.6 | — 6 427 | FEEH (FH)
AR EREEA N ZAPZ ¢ A51.0 (1 1/2) (o) | EERES
RY—FHIIYL B:= /%33 HEE %E
P = s —: 4 8 | HERME 1:34.5 8-8-7-6 |42.2| — 5 445 | BREEZ (SH)
EH 7172>747UF 56.0 %) (2) | (B JPNEH
R:TI79v 784K B: Y39/ T773)— B=ate ]
; g5 4 3 | EFRE 1:35.3 6-7-8-10 | 42.7| — 8 437 | BT (BH)
917|9 d—JLRE—L 54.0 (4) (+1) LR —ER
L:Eh—9 BTAFLXXTH BE B=
> f 3 | AEEt 1:35.5 1-11-11-11| 41.7 | — | 12 | 406 |EHHME— (EH)
10[8[12| hINV /B TA 0 ) o | mEzE
R8T BAAAFHIT KRB
. P ES . _1D—19— — RAK (SH)
1 g| YR AL it 6 i 1(.13/52.>6 12-12-12-12| 41.6 10 (4_631) EE
LHL ALY E = BihH RIL—IY P ¢
T N ZEAREH . Al — BH®E— ()
15|51V KS1T 3250 2 B -
R:ATI RS Bx 9T =Eitie
® I —F—EBIERL
13=7r= 11,10,4,5,2,9,6,7,1,3,12,8
Aol=5r= 11,10,4,5,2,6,9,7,3,1,12,8
G§a=7r= 11,10,4,5,2,6,7,9,3,1,12,8
A== — 11,2,10,4,6,7,3,5,1,9,12,8
[ RN
B OB 1 1609 714K 2-11 170H e & 2-8 250M &R 2-10-11 290M
8 B 1" 1009 10-11 160M B = 2-11 260M JEH 11-2-10 1,000
2 1204 2-10 290M B H 11-2 510M
10 1009

ABICOVWTRDTEEERROODE. TR LIV,




